TR  RBI

A2 — FREARUVHEAEER
BEAI—XROUTRZ—F}

8| R K % index | PHC | TEE K % index | PHC | TEE K % index | PHC | TEE K % index | PHC | TEE

1(7:24| KR 4% | 6.2 | 10 [BT| T BI{Z | 6.6 | 10 | BT Fi% 15 1.7 |12 |BT

EEf (14.9| 17 |RT| HHA IERE |16.6| 19 |RT| fkiE &HE [22.3]| 26 |RT| 34T | 23.3| 27 |RT

3(7:36| A<y |94 |11 |RT| KB # |[17.2] 20 |RT| {REELE |17.7| 21 |RT| 2B #T 17.9| 21 |RT

4 |7:42| PBPHEI =Z=F | 9.6 | 13 |FrRT1| KFF E=MF [10.0| 14 |rr11| #H BE— |11.0| 13 |RT| EEE Bt [21.1] 25 |RT

5 |7:48 xH = 78 |12 |BT| RIFE— |84 |12 |BT| {Riki{E— |14.6| 20 |BT IRA R 16.5| 22 | BT

6 |7:54| BB E— | 76| 9 |RT| XBE =jF (89|11 |RT| IO E |115| 14 |RT| EHEEE [12.1| 14 |RT

8 [8:06

XAHDIBRE 1(I~1017I - BG
77—




BEHI—XINXZ—F

TR  RBI

A& — PEFZARUEEER

tH | B K % index | PHC | TEE K % index | PHC | TEE K % index | PHC | TEE K % index | PHC | TEE| A — F
1|7:24| #ARFIE | 75|11 |BT| fREEMK | 79|12 |BT| K#FHF{EHE (11.8| 17 |BT

2 |7:30 FRH 83|12 |BT| H##— |85 |13 |BT| %% |[13.3| 18 BT

3|7:36| FREE thHf+ |15.7| 18 |RT| A #&BY |23.5| 27 |RT| H#E FKEB | 24.6| 29 |RT

4 |7:42| FHBFE | 19| 5 |BT| FH= |81 12 |BT| HEZE%£ |11.4| 19 |RT| FxR %4t |13.0( 18 |BT| 4
5 |7:48| EWFEIT | 86|10 |RT| L |9.0|16 |RT| #E 4FiE (15.1| 18 |[RT| R |19.0| 22 |RT
6|7:54| ZE@ESH— |54| 9 |BT| ZFIEX (10415 BT| #BEE{EE |10.6| 15 |BT| FEZSF (30536 [FRT| &

: 00

8

8:

06

XEAHDIRE 1~101i - BG

77—




